

ROMANIAN MATHEMATICAL MAGAZINE

J.2581 In triangle ABC holds:

$$\sqrt{2}a \cos \frac{B}{2} \cos \frac{C}{2} = s \Rightarrow \sec(2B) + \tan(2B) = \frac{c+b}{c-b}$$

Proposed by Daniel Sitaru, Dan Nănuți – Romania

Solution by Titu Zvonaru-Romania

Since $\cos \frac{B}{2} = \sqrt{\frac{s(s-b)}{ac}}$, $\cos 2x = \frac{1-\tan^2 x}{1+\tan^2 x}$, $\tan 2x = \frac{2\tan x}{1-\tan^2 x}$ we obtain:

$$\sqrt{2}a \cos \frac{B}{2} \cos \frac{C}{2} = s \Rightarrow 2a^2 \cdot \frac{s(s-b)}{ac} \cdot \frac{s(s-c)}{ab} = s^2 \Rightarrow 2(s-b)s-c = bc$$

$$\Rightarrow (a-b+c)(a+b-c) = 2bc \Rightarrow a^2 - b^2 + 2bc - c^2 = 2bc \Rightarrow$$

$$a^2 = b^2 + c^2 \Rightarrow A = 90^\circ \Rightarrow \tan B = \frac{b}{c} \Rightarrow$$

$$\sec(2B) + \tan(2B) = \frac{1}{\cos(2B)} + \tan(2B) =$$

$$= \frac{1 + \tan^2 B}{1 - \tan^2 B} + \frac{2\tan B}{1 - \tan^2 B} = \frac{(1 + \tan B)^2}{1 - \tan^2 B} = \frac{1 + \tan B}{1 - \tan B} = \frac{1 + \frac{b}{c}}{1 - \frac{b}{c}} = \frac{c+b}{c-b}$$